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General Instructions to the Candidate :
1. = a_q,o_te,“d%??oiw 280, 34 @%ﬁ%ﬁg& é@o&‘)a’% Wn-A DB Rn-B ﬁ%’fﬁa‘{ WERORT.

PenR-ASE), Employability skills7i TOWORAT @%ﬁ@c&n@, wr-BY, wipeSndon
ROWORAT T,Z NPTOZR.

This Question Paper consists of 34 questions including Part-A and Part-B. Part-A
consists of questions related to the Employability skills and Part-B consists of the
questions related to Automobile.

2. BIRUH SRLIT RRURNTR) TOOR.
Follow the instructions given against the questions.
3. WY mﬁd@pﬁﬁé\i&ﬁ L303NF0 E_@%ﬁ@ﬁd&w TRERE @Oﬁﬁ@éa’% 2Re0R0Z.
Figures in the right hand margin indicate maximum marks for the question.
4. T3TEIDT, OERYLD 15 AWANT T3 XeOTOE, KIBOIL SNOTBITT
ARODBI, T, T, F0 FBoeeNm BN,
o ol Al £

The maximum time to answer the paper is given at the top of the question paper. It
includes 15 minutes for reading the question paper.
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III.

PART - A

Four alternatives are given for each of the following questions / incomplete

statements. Choose the correct alternative and write the complete answer
along with its question number and alphabet : 3x1=3

Which of the following is an example of oral communication ?

(A) Newspapers {(B) Letters

(C) Phone calls (D) E-mail

What makes you complete work or studies without others cheering you ?
(A) Self-motivation (B} Communication

(C) Self-confidence (D) Self-esteem

A positive facial expression in the following is,

(A) Frowning while concentrating

(B) Maintaining eye contact

(C) Smiling continuously

(D) Rolling up your eyes

Answer the following questions : 2x1=2

What are goals ?

Define sustainable development.

Answer the following questions : 2x2=4

Write any four function keys in the keyboard.
List any two functions of an entrepreneur.
OR

What are the good qualities of an entrepreneur ?

IV. Answer the following question : 1xXx3=3

Explain the characteristics of a good feedback.
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PART - B
V. B3NS IIRen opte oFpeor Beeinen ooy GolnvR MrEONE. ORPnTo Xd

BRATTOT YOZTHRY, B0, ¥TC 3, BRFTBL0ON Fpear L0ITTRY WSD 17 X 1 =7

Four alternatives are given for each of the following questions / incomplete
statements. Choose the correct alternative and write the complete answer
along with its question number and alphabet :

9. 20T eTFYOI ‘adi% RROWONTORTO

(A) 9000 kg-m (B} 5000 kg-m

(C) 6000 kg-m : (D) 4500 kg-m

One horsepoﬁver is equal to

(A) 9000 kg-m (B) 5000 kg-m

(C) 6000 kg-m (D) 4500 kg-m
10. GBI NI 3 LUZ0R :

AB,RT, BO 1 B HOPRFT J008E 11 IROYII* FRS =

) @ g
(4) RO (B) @TOPT TOPRFT0 J0o08
(C) Rnedneeiw o (D) S VOPRF T V00T

Observe the analogy and answer :
Vegetable oil : Liquid lubricant : : Molybdenum disulphide :
(A) Emulsion (B) Semisolid lubricant

(C} Monograde oil (D) Solid lubricant
11. Oep* RONFIQTO 03,3017 238, 3030 doenimy WD

(A) dore (B) edorv
(C) Réon‘ 2, 0000° (D) o3Raon

The initial curvature provided in a leaf spring is called
(A) Dipping (B) Pitching

(C) Spring camber (D) Yawing
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12. 70300 3O F,T0ED 33,33 0T, LT3R ENTOT TWTIND
(A) ©OF0 DTSN _ (B) DJTN WoBdaNGD
(C) 88 DTN (D) @azﬁf_fj WOBINE
Automatic transmission system is used in
(A) Light vehicles (B) Luxury vehicles

(C) Three-wheelers vehicles (D) Two-wheelers vehicles
13. Q0BT TWROF,F 0TI

(A) 20BN ADOREOS W3
- = =
(B) &S &a&&)wmeéﬁwq} £3T3 HOWIED
(C) "Rzt =oxees
(D) &30 TR FIRO*
Engine capacity refers to
(A) the diameter of the cylinder shape engine
(B) the total piston displacement volume

(C) swept volume

(D) friction horsepower

14. 290RET* $T0E S, NYIy 380300 WIS BT

(a) & 000 (B) =ows
(C) Jorwer (D) A&,

The tool used to create cylindrical shape holes is
(A) Plier : (B) Punch
(C) Drill bit (D} Snips

15. ROBI'IY,F© LI, Ldoded WIRNRS LUTITED

(A) BTRT (B) ©ow QoD
C) ©=OF D) soe* &, F¥

The tool used to check the oil level in the engine is
(A) Dipstick (B) Oil filter
(C) Funnel (D) Oil drain plug
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VL. ZRITHE 3TRHR z::&.&%‘dos 3@%’5&'& P TR ¢ 4x1=4

Fill in the blanks with suitable answer.

16.

17.

18.

19.

VII. 20.

CRIoRv £30300° e R0 mﬂw‘@ﬁ E&Oi)U‘ﬁ“’éﬁ% .......................... (Xevbloat-lolnt]
FB03083.

The tube tyres and tubeless tyres are called as ................. tyres.

o= @éﬁu mwgﬁwmﬂ 299303000 YUTO3RENTOR YVTTTED ............... :

The tool used to measure specific gravity of liquid is ................... !

tTeF  Jowr® B@Fagj ‘N‘@@JﬁQ @ége&:@‘wa:mw .................. zﬁﬁdﬁ%ﬁd‘i
TRODTOBE.

Tappet wretich has .....cccoiuiisinn jaws at fixed separation.

ToTBIW RO° LOT° eﬁag( ..................... TRTT J03T wmepolTIes.
The vehicle air filter should be replaced aftera ............... distance.

A-TU00O, wtinze] O°S wEESHne cmedeeRnds) TR B-JE300Q
SRS ofR WOTY LOTFCHONTSY ABRRNG. S[YNYRY, Beodd LeIThYRy
B TRETSRATS W30 4x1=4

Uses of automobile tools are given in Column-A and automobile tools
are given in Column-B. Match them and write the answer along with its
letter of alphabet :

A-a:’éi B-w'&::
Column-A Column-B
i) FOR IRBT TV, LATRRYL @) FO'
To hold the workpiece Files
ii) drexw m@ﬁ@a&% LEfer oV b) mﬁmcﬁ
Cutting of metal sheet Hammers
iii) BZORO O 3T WRWLW c) o F°
Cutting and chipping Bench vice
iv) SRIJWT 3:@?1%#5% 3rooen d) ?glw_i
Remove sharp edges Snips
€) BxeF
Chisel
) D& NS

Grease guns
g - S dyser

Screw drivers
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VIII. 33 8N B, 3non ¢ug0R -

Answer the following questions :

21.

22

23.

RIS X, WH DY HTRO TTRT, Fe0R, YT, $9A.

oo ) 3 3 £l
Mention the two common problems of the suspension system.
"f’cgﬁ)g evelod oo’ WHECIRNT B0 Wesan emﬁﬁdsaﬁféag w%m@.
List the materials and tools required for changing the fuel filter.
DT* QOTT BT, [0D,TNG. DF ?
Air filter is important for a vehicle. Why ?

24. 1978 09 3&% emaauwan’ab Fo0oNYY ABS %ﬁ:‘%&b@t RV TOWCWATHT
o3RTY ?
Who introduced the first ABS on production of cars in 1978 ?
IX. SIINII3nof evgon !
Answer the following questions :
25. S0oowHODL BT THORENTIY WICWO.
Write the functions of front axle.
&5 | OR
mﬂﬁaacﬁj CIRR)TTTR [, E&ﬁmoﬁ%&g{ WTC00.
Write any four advantages of a battery.
26. AT @pem"‘u@ﬁ‘ﬁ DWOA.
Explain the two-post lift.
27. T,00 TTIT W[, WICWO.
Draw the diagram of hand hacksaw.
28. DOTIT GO xmv OTERBEOIOR, WBOR.
Explain the blind spot detection of the vechicle.

X. s¥nsIInent evgon

Answer the following questions :

29.

BOVTSE uTodeeNToT B FPNT 2008,5 wdrﬁ?ﬁ% AN OFIIN
(a) BT BE® Bowo*

(b) Brus

Explain the following technical terms used in engine :

(a) Top dead centre

(b) Stroke
55559 [ OR

4x1=4

4XxXx2=8

3xXx3=9



88-EK (Level-2) 7

30.

31.

B[OV T, YVTIRNTIS B3 FINT 008, 8 THNYIY, VIO
(a) &,c3° TR FTRO°

(b) &3 TR FISO’

Explain the following technical terms used in engine :

(a) Brake horsepower

(b) Friction horsepower

DOBIT SOW® WTHTOOWFOTN LITORORT DN aosmfsig{ mgdm@.

List the different steps used in changing the oil of the vehicle.
BReerF R0 &,BTT* TTIBI), V030830 FBTOWERNT. FXRFA.

The rollover prevention helps to control vehicle. Justify.

XI. 3330 aj)%ﬂ'?ﬁ QOI0N ! 3x4=12
Answer the following questions :

32.

33.

OB F SO0 DT ﬁww‘ Uiﬁ)‘ &%@53& WO, FYNS zpariri@sigl nagtoéa :
i) Towo*
(ii) ﬁww‘ eﬁchJ‘
Draw the diagram of reverse elliot type stub axle and label the following
parts :
(i) Cotter
(ii) Stub axle
&30 /OR
asmdw‘d*u‘ Sovelod z&@ﬁ&g{ W3, IENS mﬁﬁ@@{ T8 :
Q) S
(ii) ms;mgw
Draw the diagram of tubeless tyre and label the following parts :
(i) Tread
(ii) Valve cap
stinedey o ToTYORY, MTCIRNTE 83 FINT WUTTTENT LUTARNNTSY
23CR00 :

() w080
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34.

(if) 700N QOTI®
(iii) = ZSESU‘
(iv) mg e
Write the uses of the following automobile service tools :
(i) Calipers
(i) Grinding machine
(iii) Spanner
(iv) Mallet
5w /OR
FINS wdReRn] oF ADeFA TODFMISTYT TOTCNTRY IFJOX
(a) DR eEeRION* LT* FOT, eX0°
(b) e W ITT
Explain the automobile service workshop equipment of the following :
(a) Reciprocating air compressor
(b) Wheel balancer

Q022 BRGS0 ejaigl NO3VZN udmo&m&qp ROV e LTOOTITOR
TOBOWOINDE 7 QOWW* B0 WTTDOWRIT 503?1«;:13.3l WTOL.

What are the effects on an engine, if the coolant of the engine is not

changed regularly ? Explain the steps of changing the engine coolant.



